VERUS

ENGINEEARING

Side Splitter Kit - G82 BMW M4

Install Manual

Author: M. Deckard
Release Date: 2025/07/30
Approvals: E. Hazen

Document Revisions

Rev Date Author Description

01 2025/07/30 M. Deckard Initial release of install manual

Confidential: Property of Verus Engineering. Not for Distribution outside intended recipient list.

Verus Engineering
support@verus-engineering.com



VERUS ENGINEERING | NORTH AMERICA Author: M. Deckard
ENGINEERING REVISION: RO1 Date: 2025/07/30
Recipients: Public

Side Splitter Kit, G82 BMW M4 — Install Manual

Contents

INEFOAUCTION .ttt ettt et e s bt e s bt e she e sab e st e et e e bt e beesbeesaeesaseenbeenbeesaeesanenas 3
OVEBIVIBW ..ttt ettt b bbb et e e s bbbt e e s b s e e e s bbb s e e st b e e e s bba e e e sbba e e e sanbaeeesaaraeeesas 3
1 ol U Y S RR 3
LR =N R CTe [V T =T PRSP 3
TOOIS RECOMMEBNAEM ...ttt ettt e st e s bt e e s bt e e be e e sabeesbeeesabeesaneesneeesareeanns 3
Y Lo LY o] [ o= ol 4 A€o T4 Y e o] o= ) £ TP 3

Y Lo LY o] [ o =T o o Y] = 1 SRS 4

Confidential: Property of Verus Engineering. Not for Distribution outside intended recipient list.

Verus Engineering

support@verus-engineering.com 2 3/6/2016



VERUS ENGINEERING | NORTH AMERICA Author: M. Deckard
ENGINEERING REVISION: RO1 Date: 2025/07/30
Recipients: Public

Side Splitter Kit, G82 BMW M4 — Install Manual

Introduction

Overview: Detailed instructions on installing the Verus Engineering Side Splitter Kit on the G82 BMW
M4.

Difficulty: Moderate
Time Required: 0.5-1 hour

Tools Recommended:

4mm Allen key or socket
Ratchet or impact

1/4” drill bit

Drill

Punch (optional)

Trim tool (optional)
Hammer (optional)

Side Splitter Kit Components
o (1) Left-hand Side Splitter

Confidential: Property of Verus Engineering. Not for Distribution outside intended recipient list.

Verus Engineering
support@verus-engineering.com 3 3/6/2016



VERUS ENGINEERING | NORTH AMERICA Author: M. Deckard

ENGINEERING REVISION: RO1 Date: 2025/07/30
Recipients: Public

Side Splitter Kit, G82 BMW M4 — Install Manual

e (1) Right-hand Side Splitter

e (1) Hardware bag
o (18) M6x1.0 20mm Long, Button Head Cap Screw (BHCS), Stainless Steel (SS)
o (18) M6 Fender Washer, SS
o (18) M6 Clip-on Nuts

Side Splitter Kit Install

1. Verus Engineering is not responsible for damage to you or your vehicle by following this
manual and/or installing Verus Engineering products. Please seek professional
service/guidance if you are uncomfortable/incapable of installing this in a safe manner.
Contact us at support@verus-engineering.com if you have any questions/concerns.

2. We first need to safely raise and support the vehicle using a jack and jackstands or a lift if one
is available. Note: You will need access to the underside of the side skirts so lift your vehicle
accordingly.

3. Locate the plastic rivets that fasten the lower edge of the side skirts (9 per side).

4. Drill out the center of the plastic rivets or use a punch to drive the center section through
and use a trim tool to pull the remains of the clips out.

Confidential: Property of Verus Engineering. Not for Distribution outside intended recipient list.

Verus Engineering
support@verus-engineering.com 4 3/6/2016


mailto:support@verus-engineering.com

VERUS ENGINEERING | NORTH AMERICA Author: M. Deckard
ENGINEERING REVISION: RO1 Date: 2025/07/30
Recipients: Public

Side Splitter Kit, G82 BMW M4 — Install Manual

5. Install the clip-on nuts where the plastic rivets used to be. The clip-on nuts should clip onto
both layers of the side skirt assembly as shown below

6. Choose which side of the side splitter you would like to face up. The side splitters can be
installed with the Verus logo facing up or down.

Confidential: Property of Verus Engineering. Not for Distribution outside intended recipient list.

Verus Engineering
support@verus-engineering.com 5 3/6/2016



VERUS ENGINEERING | NORTH AMERICA Author: M. Deckard
ENGINEERING REVISION: RO1 Date: 2025/07/30
Recipients: Public

Side Splitter Kit, G82 BMW M4 — Install Manual

7. Install the side splitter to the car using the M6 20mm long BHCS with M6 washers.

8. Repeat Step 4-7 for the remaining side.

9. Congratulations! You have just completed installation of the Verus Engineering Side Splitters
on your G82 BMW M4!

10. Please contact Verus Engineering with any questions, comments, concerns, and feedback via
support@verus-engineering.com.

Confidential: Property of Verus Engineering. Not for Distribution outside intended recipient list.

Verus Engineering
support@verus-engineering.com 6 3/6/2016


mailto:support@verus-engineering.com

